BEAM 1

_
Fxt FY*T

_~ EGH
COS 18 * EH=EGC
COS 18 * 260.1#=EG
247 4#=EC

_~ EN
COS 18 * EI=EJ

COS 18 * 3726.8#=EJ
3544 4#=FJ

_~ DKF

COS 21 * FD=DK

COS 21 * 4583.1#=DK
4278.7#=DK

_~ CAL
COS 33 * CA=CL

COS 33 * 3812.2#=CL
3197.24#=CL

_~ MBN
COS 18 * BN=BM

COS 18 * 3249.1#=BM
—3090.1#=BM

_~ 0BP
COS 18 * BP=EBO

COS 18 * 2462.6#=B0
2342 1#=B0

_~ EGH

SIN 18 * EH=GH
—>
SIN 18 * 260.1#=CH
—
—80.4#=GH

B
SIN 18 * El=lJ

SIN 18 * 3726.8#=|
1151.6#=1J"

_~ DKF

SIN 21 * FD=KF
SIN 21 * 4583.1#=KF
1642 4#=KF

~ CAL

SIN 33 * CA=AL
SIN 33 * 3812.2#=Al
—2076.3#=AL

_~ MBN

SIN 18 * BN=MN

SIN 18 * 3249.1#=MN
—1004.0#=MN

_~ 0OBP

SIN 18 * BP=0P
SIN 18 * 2462.6#=0P
—~761.04#=0P

BEAM 2



